R2-3 —RLEXME(EFHE)OEE
CBY : ppm)
HA% A&
Xsy | BEEG&K | & M| E30D L. E =] MEB4ER| 55 56 57 58
X % itk

ABRK( K R K| 8 |2 BF&E R « >~ % ~|BT| 0.030 0.033 | 0.082 | 0.082 | 0.029
KB ii|dE | 88 (B B &H ¥ K| @& 0.038 0.040 0.038 0.038 0.035

B & K 88 | & K #®& &l &£ 004 0.040 | 0.036 | 0.037 | 0.038

X F K| 88 |¥ B /4 ¥ &| | 008 | 0037 | 003 | 0.085 | 0.033

BREME| 58 | F £ K| & | 0.082 | 0.035 | 0.034 | 0.034 0.031

oK | 58 j@® M K & M| @ | 0039 | 0.039 | 0.0% 0.038 | 0.087

£ F K| 58 (B bk s ¥ K| E | 0.033 0.030 0.033 0.029 0.028

8 R| 58 |x ® M ¥ &|& 0034 0.037 | 0.034 | 0.035 | 0.032

_ % OH X| 58 |® % /A ¥ K| | 0040 | 0085 | 0.0 0.034 | 0.033
EzaOX | 68 |m B ¥ &| | 0.086 | 0.04 0.088 | 0.086 | 0.035

F OB K| 58 [ B A ¥ #| £ 003 | 0.038 | 0.03 | 0.033 | 0.032

AR K| 8 |4 ® & ¥ K|#&| 000 0.040 0.089 | 0.087 | 0.036

[} X| 58 |® @ A % K| #& | 008 | 0039 | 0.038 | 0.039 | 0.035

o AR T 8 |H 7 ES F| £ | 0.0 0.023 0.023 0.025 0.022
® W 58 |4 Ll F( £ 0.033 0.033 0.031 0.029 0.027

58 |k | & | 0.038 | 0.027 | 0.02r | 0.020 | 0.030

- 58 |& M| & | 0.027 0.025 | 0.023 | 0.026 | 0.023
58 | = %] # | 0.088 | 0.081 0.033 | 0.030 ;| 0.029

58 | & " A& | 0.009 0.012 0.018 | 0.014 0.013

G| ® h | 8 |¥ M| & | 0.081 0.030 | 0.027 | 0.030 | 0.080

" 58 |F B |®%T| 0.085 | 0.085 | 0.031 0.029 | 0.027
AEM|w @ d| 8 @ & @ | & 002 0.025 | 0.029 | 0.027 | 0.025

® H 58 |w H W OB @ B By &£ | 0.082 | 0.081 0.032 | 0.029 | 0.026

58 |m M i odton B B E | 0022 0.028 0.022 0.023 0.019

- 58 | REATHRMBHE T RLHERS | & 0.028 0.029 - - -
ARFIR RN 8 |R X B2 R B g & | 0.02 0.024 0.025 0.023 0.022

¥ A My 8 |F @ & @ F| £ | 002 | 0027 | 002 | 0.031 0.028

w5 W 58 |® /5 @ & FH| &K | 0.02 0.024 0.023 0.025 0.024

# 58 | X [ @ | % | 0.018 | 0.018 | 0.017 | 0.017 | 0.015
AR M| 8 |A B & @& @& | 0025 0.026 0.025 0.029 0.028

wEMMH| 58 (W E JI @ & &| & | 0.022 | 0.028 | 0.022 | 0.023 | 0.023

X W M| 88 | K K W ® B|& 0.019 0.022 0.028 0.024 0.022

= B m H| 8 |& & B ¥ gl & | o008 | 0.02 | 0.02 0.024 0.023
& &l 58 |AOMAoERBRL 5 —~| % | 0.024 | 0.024 | 0.024 | 0.024 | 0.019

58 |3 &® * B & | 0.028 | 0.021 0.021 0.022 | 0.021

58 |& W /A ¥ &| & ] 002 | 002 | 002 | 0.021 0.020

58 |m B /N ¥ B&| & ]| 002 0.020 0.021 0.021 0.019

KB R HERKRA| 58 R AR B KR A & 0.029 0.080 0.026 0.026 0.029

68 |® K B W W X Bi| & | 0.024 0.023 | 0.028 | 0.023 | 0.020

MmoR | 59 |MHEWHIEESRE & - - - 0.015 0.018

59 |# @B @ ®& A & | 0.018 0.020 0.020 - -

H % Wi 59 |H & ® » & %| &£ | 005 [ 0019 | 0.016 | 0.017 | 0.016
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CHfY 2 ppm)

B BHE g
Ry | BX& | &£ 4| 230 al & =} morEmE! 55 56 57 58
X 4 il

ABRK|R K #i| 50 | * W & H| & | 0.021 0.024 0.026 | 0.026 0.023
REBH| 59 (R K B & # F|®L| 0.020 0.018 | 0.018 | 0.018 0.018
B R M| 59 (R I & @ cp B|aw) 0.013 0.016 0.014 | €0.018) | 0.014
" B kX | 59 (B A ® & # £ | 0.023 0.024 0.021 | o0.021 0.019
- LI BTl 59 |#& %] & | o.013 0.016 0.016 | 0.016 0.013
" 59 |% F |[Xi®st| 0.010 0.011 0.011 | 0.010 0.010
» 59 | ®| & | 0010 0.012 0.013 | 0.011 0.010
59 | & A & | o012 0.013 0.013 | 0.013 0.012
z 59 | % %= n o | o.009 0.011 0.010 | 0.010 0.009
59 |/ B | Hs | 0.010 0.012 0.011 | 0.011 0.009
59 | H 1| s | 0.008 | 0.008 0.007 | 0.007 0.007
59 |7 M| Em | 0.006 0.008 0.007 | 0.007 0.007
ENL R X| 58 | 2 | % ) 0.048 | 0.053 | (0.046) | 0.041 0.042
AR |4 X| 58 |# it} 13 | ¥ | 0.050 0.052 0.048 0.048 0.044
AERIK| 58 (M %k & A ¥ | & | 008 9.050 0.046 | 0.056 0.048
EF2OX| 8 |4 B & AN ¥ K| {E | 0.058 0.055 0.054 0.055 0.053
RESFK| 8 |[fi & M X % Hl®IT] 0.050 0.053 0.051 | 0.048 0.047
B 8 X | 88 |#® &% /N B /A ¥ K| {E | 0048 0.053 0.050 | 0.042 0.041
# B K| 58 (M £ I & 4 ¥ K|[®TL] 0.053 0.0856 0.051 | 0.051 0.051
& R R| 58 |4 B x & AW | 0059 0.056 0.055 | 0.054 0.057
® R X| 88 |[& B & ¥ g|E | 0053 0-051 0.055 0.050 0.045
B E2OR| 8 | = T % % &| £ | 0.05% 0.056 0.050 | 0.053 0.046
RE/IX| 8 |[L ® E % % Al & - - 0.052 | 0.048 0.047
B T F 588 |& B o % K|l@E - 0-051 0.048 | 0.046 0.047
B WK | 58 |® L ® Fyo# | 0.047 0.043 0.043 | 0.043 0.039
H 58 | B Il & t£ | 0.028 | (0.033) | 0.035 | 0.085 0.033
ABA|® A | 8 |8 Hh WO OB R 0.026 ) (0.083) | 0.031 0.031 0.029
H | @ 58 |F B | # | 0035 | 0.084 0.032 | 0.030 0.028
wHEH|K B 6 588 | # BT & - - €0.082) | 0.083 0.033
2 |KB®|F A M, 58 (% M T ¥ A | | 0.040 0.041 0.044 | 0.043 0.042
AR H| 8 |A R M o2 W OK|E | 0.0 0.044 0.041 0.040 0.039
& BoR M| 88 (B R M & | & | 0.028 0.027 0.032 | 0.080 0.029
B W 58 |® @ W & Hi%EL| 0.019 0.030 0.035 | 0.036 0.034
E | RARG (R ART| 58 |WARMOoEER e 2—| & | 0.028 0.026 0.026 0.026 0.026
AE R pfEM| 59 R EAE 8 —| £ ]| 0019 0.028 | 0.026 | 0.031 0.030
= AR Ml s (m | W & | £ | 0.032 |(0.082) | 0.085 | 0.038 0.034
WEH®| 69 |® B K W o# B OB E | 002 0.023 0.017 | €0.022) | 0.019
WREHT| 59 | B/ AN ¥ K| & | 0.019 0.021 0.020 | €0.021) | 0.019
o W 59 |BE W A ¥ K| ] 0082 0.037 0.034 | 0.031 0.030

B EM| 59 |# ¥ ¥ h & A &£ | 002 0.025 | 0.022 | 0.026 0.027 |
R MW OH| 59 |[® @ 9w & | & | 0.02 0.018 0.017 0.019 0.019
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